


278.4 278

278.4 278

As20F =5 232.0 232

6.0 10

38.3 40

50,000 82.9 80
DID 8.5km 82.9 80

4 10,000 93.5 90
2.5 4.6 5
45.8 46

RC-40 =19 185.6 186
RC-40 =15 6.5 7
M-40 =15 190.8 191

RC-40 =10 6.5 7
M-40 =11 848.4 848

As20F =5 190.8 191

As20 =4 848.4 848

As20F =5 282.8 283

Asl3 t=3 6.5 7

W=45 79.6 80

W=45 62.7 63

W=15 55.4 55

W=15 43.6 44

W=15 1500.0 1,500

W=15 240.1 240

204.7 205

161.2 161




Gr-C-2B R 30 26.2 26
1.0 1

38.3 40

16.4 20

48.6 50

1.0 2.0 42.0 42
5.6 6

RC40-0 =20 7.8 8
18-8-40BB 6.8 7
16.7 17

28.0 28

28.0 28




278. 278.
278. 278.
As20F t=5cm
232. 232.
6. 10.
4.0 10,000
93. 90.
2.5
4. 5.
38. 40.
50,000m3
82. 80.
DID 8.5
82. 80.
45. 46.
RC40-0 t=19cm
185. 186.
M40-0 t=15cm
190. 191.
As20F t=5cm
190. 191.
RC40-0 t=15cm
6. 7.
RC40-0 t=10m
6. 7.
Asl3 t=3cm
6. 7.
M40-0 t=11cm
848. 848.
As20 t=4cm
848. 848.
As20F t=5cm
282. 283.




W=15cm 1,500. 1500.
W=15cm 240. 240.
W=45cm 79. 80.
W=45cm 62. 63.
W=15cm 55. 55.
W=15cm 43. 44 .
W=15cm 204. 205.
W=15cm 161. 161.
Gr-C-28B 26. 26.
1.
3
38. 40.
3
16. 20.
2
48. 50.
1 2 3
18-8-40BB 42. 42.
5. 6.
18-8-40BB m3
6. 7.
m2
16. 17.
RC40-0 t=20cm m2
7. 8.
B
28. 28.
B
28. 28.




1000
L29mx W8mx 1.2 278.4m2

278.4

(20F)
t=5cm
L29mx W8m 232m2

232.0




6.0

93.5

4.6

6.5

*0.7

38.3

16.4

48.6

6.0+38.3-(93.5+4.6+16.4)/0.90

-82.9




1)

NO.0 16.74 0.0 0.0
NO.1 3.3 0.0 0.00 0.0 0.0 0.00 0.0
NO.1 8.79:EC.1 8.8 0.0 0.00 0.0 0.0 0.00 0.0
NO.1 16.25:BC.2 7.5 0.0 0.00 0.0 0.0 0.00 0.0
NO.2 3.8 0.0 0.00 0.0 0.8 0.40 1.5
NO.2 5.59 5.6 0.0 0.00 0.0 0.8 0.80 4.5
29.0 0.0 6.0
0.0 0.0 0.0
0.0 6.0




1)

RC40-0

NO.0 16.74 5.5 0.0 0.0
NO.1 3.3 5.5 5.50 18.2 0.0 0.00 0.0 0.0 0.00 0.0
NO.1 8.79:EC.1 8.8 5.2 5.35 47.1 0.0 0.00 0.0 0.0 0.00 0.0
NO.1 16.25:BC.2 7.5 1.0 3.10 23.3 0.0 0.00 0.0 0.0 0.00 0.0
NO.2 3.8 0.4 0.70 2.7 0.0 0.00 0.0 0.0 0.00 0.0
NO.2 5.59 5.6 0.4 0.40 2.2 0.0 0.00 0.0 0.0 0.00 0.0
29.0 93.5 0.0 0.0
0.0 0.0 0.0 0.0
93.5 0.0 0.0




1)

NO.0 16.74 1.8 0.7
NO.1 3.3 1.8 1.80 5.9 0.7 0.70 2.3
NO.1 8.79:EC.1 8.8 1.9 1.85 16.3 0.8 0.75 6.6
NO.1 16.25:BC.2 7.5 1.6 1.75 13.1 0.8 0.80 6.0
NO.2 3.8 0.0 0.80 3.0 0.0 0.40 1.5
NO.2 5.59 5.6 0.0 0.00 0.0 0.0 0.00 0.0
29.0 38.3 16.4
0.0 0.0 0.0
38.3 16.4




1)

40.8

7.8

48.6




38.3

0.0




1)

NO.0 16.74 1.7 0.0

NO.1 3.3 1.7 1.70 5.6 0.0 0.00 0.0

NO.1 8.79:EC.1 8.8 1.8 1.75 15.4 0.0 0.00 0.0

NO.1 16.25:iBC.2 7.5 0.8 1.30 9.8 0.0 0.00 0.0

NO.2 3.8 0.8 0.80 3.0 0.0 0.00 0.0

NO.2 5.59 5.6 0.8 0.80 4.5 0.0 0.00 0.0
29.0 38.3 0.0
29.0 38.3 0.0




45.8

RC-40
t=19cm 185.6
M-40

t=15cm 190.8
(20F)

t=5cm 190.8

RC-40

t=15cm 6.5|CAD

RC-40

t=10cm 6.5|CAD
(13)

t=3cm 6.5|CAD




1)

NO.1 0.00 6.50 6.30
NO.1 8.79iEC.1 8.8 0.00 0.00 0.0 6.50 6.50 57.2 6.30 6.30 55.4
NO.1 16.25:BC.2 7.5 0.00 0.00 0.0 6.50 6.50 48.8 6.30 6.30 47.3
NO.2 3.8 6.10 3.05 11.6 6.50 6.50 24.7 6.30 6.30 23.9
NO.2 5.59 5.6 6.10 6.10 34.2 6.50 6.50 36.4 6.30 6.30 35.3
CAD 21.1 21.1
CAD 2.6 2.6
25.7 45.8 190.8 185.6
25.7 45.8 190.8 185.6




M-40 282.8 *3

t=11cm 2 848.4[cAD
(20) 282.8 *3
t=4cm 2 848.4|cAD
(20F)

t=5¢cm 2 282.8|cAD




(m)

(m)

(m)

(m)

15¢cm

3,000

240.1

240.1 / 3000

0.0800 <1/2

1,500

240

0.0800 <1/2

(m)

(m)




(m)

(m)

(m)

(m)

436 436 / 400 = 01090 <1/2 44  x 127 = 55 55 44
15cm 400
62.7 62.7 / 450 = 01393 <1/2 63 x 127 = 80 80 63
45¢cm 450
161 1612 / 300 = 05373 < 10 161 x 127 = 205 205 161
15cm 300
T = 07857 < 10
o = 1/ 0787 = 127

(m)

(m)




W=15cm 89.9 82.1 68.1
240.1 240.1
W=45cm L=15.0m 36.0m 51.0
L=26m 27 6.4 11.7
> L 510 11.7 62.7 62.7
L=16.4 9.6 17.6 43.6
W=15cm
L=140.0m
15cm L=21.2m
2 L 1400 21.2 161.2 161.2




Gr-C-2B

26.2

1.0




1)

(R-LY/R
Gr-C-28
L= 4.3
L= 21.9

26.2




18-8-40BB 8 42.0

2 107.1

@ 200 5.6

14

RC40-0 _t=20cm ? 40.8
£=10mm ? 3.3




Block
H N bl b2 b3 a S
1 2.098 0.50 0.400 1.449 1.649 1.940 4.444
2.098 0.50 0.400 1.449 1.649 1.940 4.444
2.098 0.50 0.400 1.449 1.649 1.940 4.444
? 2.102 0.50 0.400 1.451 1.651 1.945 4.452
2.058 0.50 0.400 1.429 1.629 1.882 4.359
1.955 0.50 0.400 1.378 1.578 1.738 4.141
1.955 0.50 0.400 1.378 1.578 1.738 4.141
3 1.677 0.50 0.400 1.239 1.439 1.374 3.552
1.655 0.50 0.400 1.228 1.428 1.347 3.505
4 1.655 0.65 0.400 1.476 1.676 1.552 3.629
1.096 0.65 0.400 1.112 1.312 0.829 2.403
b2= Hx N 0.400
b3= b2 0.200
a= (bl b2)xH 2
s=H Vv (H*2 (Hx N)"2)
1 18-8-40BB
H a A L
2.098 1.940
2.098 1.940 1.940 4.269 8.3
2.098 1.940
2.102 1.945 1.943 1.621 3.1
2.058 1.882 1.914 1.865 3.6
1.955 1.738 1.810 4.352 7.9
1.955 1.738
1.677 1.374 1.556 6.217 9.7
1.655 1.347 1.361 0.365 0.5
1.655 1.552
1.096 0.829 1.191 7.452 8.9
42.0




H s s L
2.098 4.444
2.098 4.444 4.444 4.269 19.0
2.098 4.444
2.102 4.452 4.448 1.621 7.2
2.058 4.359 4.406 1.865 8.2
1.955 4.141 4.250 4.352 18.5
1.955 4.141
1.677 3.552 3.847 6.217 23.9
1.655 3.505 3.529 0.365 1.3
1.655 3.629
1.096 2.403 3.016 7.452 22.5
(H=2.098) 1.9
(H=2.098) 1.9
(H=2.098) 1.9
(H=1.096) 0.8
| 107.1
® 200
Block-1 L= 4.269 /2.0x 0.400 = 1.2m
Block-2 3 L= 21.872 /2.0x 0.400 = 4.4m
s L= 5.6 m
Block-1 N= 4.269 /2.0 = 3
Block-2 3 N=  21.872 /2.0 = 11
s N= 14



RC40-0 t=20cm

H b3 L
2.098 1.649
2.098 1.649 .649 4.269 7.0
2.098 1.649
2.102 1.651 1.650 1.621 2.7
2.058 1.629 1.640 1.865 3.1
1.955 1.578 .604 4.352 7.0
1.955 1.578
1.677 1.439 .509 6.217 9.4
1.655 1.428 .434 0.365 0.5
1.655 1.676
1.096 1.312 .494 7.452 11.1
40.8
t=10mm
H
1.955 1.7
1.655 1.6




18-8-40BB 6.8 6.8
16.7 16.7
RC40-0,t=20cm 7.8 7.8




al=
a2=

al=
a2=

>
1

18-8-40BB

2100 +
7182 -

6.804 x

6.804 x
1.000 x

6.300 )/
0.300 x

1.000

2
1.560 x

RC40-0,t=20cm

1.200 x

6.500

2 X
0.180 /

1260 +
2 X

6.300 x
14

0.300

7.182 m?
6.804 m?

6.8 m*

13.6 m?
3.1 m?

16,7 m?

7.8 m?



28.0

28.0




